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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 34+40=74 2) 257+513=770 3 4+2=6
40+34=74 513 + 257 = 770 2+4=6 1
74-34=140 770 - 257 =513 6-4=2
2.
A.74+40=114 A.770-513 =257 A.8-4=4
B.74-40=40 B. 770- 513 =513 B.6-2=2 3.
C.35+40=75 C. 1283 - 257 = 1026 C.2-6=4
D.74-40=34 D. 770 + 513 = 1283 D.6-2=4 4.
5.
4) 28+35=63 5 614+ 106=720 6) 3+2=5
35+ 28 =163 106 + 614 = 720 2+3=5 6.
63-28=35 720 - 614 = 106 5-3=2
7.
A.28+63=35 A. 720 + 106 = 826 A.3+5=2
B.63-35=28 B. 720 - 106 = 614 B.2+5=3 8.
C.35-63=28 C. 615+ 106 = 721 C.5-2=3
D.63-28=28 D. 106 + 720 = 614 D.4+2=6 .
10.
7) 27+69=96 8) 37 +855=892 9 6+14=20
69 + 27 = 96 855 + 37 = 892 14+6=20 1L
96 - 27 =69 892 - 37 =855 20-6=14
12.
A.96-27=27 A. 892 - 855=37 A.20-14=14
B. 27 + 96 =69 B. 855 - 892 = 37 B.21-14=7
C.97-69=28 C. 892 - 855 =855 C.14-20=6
D. 96 - 69 =27 D. 855 + 892 = 37 D.20-14=6
10) 83+11=94 11) 621+ 164 =785 12) 1+13=14
11+83=94 164 + 621 = 785 13+1=14
94-83=11 785- 621 =164 14-1=13
A.94-11=11 A.785- 164 =621 A.15-13=2
B.11+94=83 B. 622 + 164 = 786 B.13-14=1
C.94-11=83 C.164-785=621 C.14-13=1
D.84+11=95 D. 621 + 785 = 164 D.13+14=1
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 34+40=74 2) 257+513=770 3 4+2=6
40+ 34=74 513 + 257 = 770 2+4=6 . _ D
74 - 34 =40 770 - 257 =513 6-4=2
74-40=34 770 - 513 = 257 6-2=4 2 A
A.74+40=114 A.770- 513 =257 A.8-4=4
B.74-40=40 B. 770 - 513 =513 B.6-2=2 3. D
C.35+40=75 C. 1283 - 257 = 1026 C.2-6=4
D.74-40=34 D. 770 + 513 = 1283 D.6-2=4 4. B
5. B
4) 28+35=63 5) 614+ 106 = 720 6) 3+2=5
35+ 28 =63 106 + 614 = 720 2+3=5 . _C
63-28=35 720 - 614 = 106 5-3=2
63-35=28 720 - 106 = 614 5-2=3 . D
A.28+63=35 A. 720 + 106 = 826 A.3+5=2
B.63-35=28 B. 720 - 106 = 614 B.2+5=3 8. A
C.35-63=28 C.615+106=721 C.5-2=3
D.63-28=28 D. 106 + 720 = 614 D.4+2=6 . D
0. C
7) 27+69=96 8) 37+855=2892 9) 6+14=20
69 + 27 = 96 855 + 37 = 892 14+6=20 n_ A
96 - 27 = 69 892 - 37 =855 20-6=14
96 - 69 = 27 892 - 855 = 37 20-14=6 2_C
A.96-27=27 A. 892 - 855 =37 A.20-14=14
B. 27 + 96 = 69 B. 855- 892 = 37 B.21-14=7
C.97-69=28 C. 892 - 855=855 C.14-20=6
D.96- 69 = 27 D. 855+ 892 = 37 D.20-14=6
10) 83+11=9%4 11) 621+ 164 =785 12) 1+13=14
11+83=94 164 + 621 = 785 13+1=14
94-83=11 785 - 621 = 164 14-1=13
94-11=83 785 - 164 = 621 14-13=1
A.94-11=11 A.785- 164 =621 A.15-13=2
B.11+94 =83 B. 622 + 164 = 786 B.13-14=1
C.94-11=83 C.164 - 785=621 C.14-13=1
D.84+11=95 D. 621 + 785 = 164 D.13+14=1
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